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Candidates are required to give their answers in their
own words as far as practz‘cable

Answer all the questions from selected optlon
OPTION-A
~ EDU-SEC-P-1(4) -
A. Statistical Analysis
GROUP-A
Rt
1. Answer any five questions: " o 1,(5:5 ]
c-coiEat =S era Ted e 3
a) What is mean?
TG JIE &2
) What is median?
TG I A2
c). What is mode?
-~ Mode JItF A



d)

What do you mean by measurement of central
tendency?

@@aﬁaﬁ@avfﬁww%mﬂu?

Write down two merits of mean.

M0wa 7 AR @)

Mention two advantages of median.

| R o R @ |

g).

Write down two demerits of mode.

b)

- IR R @4

h)

What ‘is range?

BT INF e 2 '
GROUP-B |
"ﬁswpﬂ 4
2.  Answer any two questioﬁs:
-G f5 et B e ¢

a) Cailculate the median value from the following

 5%x2=10

Calculate the mean value from the following
data:
fiefeRs data (¥ mean PR 37 ¢
Scores [21-25 26-30 |31-35 36-40 |41-45 |46-50
Frequency| 3 7 9 15 8 2
¢) Calculate the mode value ﬁom the following
data:
- AwfiRe data (0T mode ﬁ‘l‘fl 2 ‘
Scores  [30-34]25-29]20-24]15-19]10-14]5-9] 0.4
Frequency | 2 3 1 35 10 [ 8 |53
' d) What do you mean by standard deviations?
-Write down three significances of standard
deviations. 243
Gmwfﬁﬁm%saacséﬁcﬁﬁmﬂ?vmwfﬁ%m%ai%w%
siesy @ |
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3. Answer any two questions: 10x2=20

@_Mﬁmmmg

a) Calculate the standard deviation from the
following data:

ffiRe data (¥CF standard deviation 9% 3% 2

| data; ;
PR data cars median Ff 9 ¢
Scores 20-| 23-T 26- 29-| 32- | 35- | 38-
— 122|125 28| 31| 34|37 |40
Frequency| 8 [ 13 | 19| o | 21 ] 14 | 5
' 104/Edn(N)

..(72)
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Scorés 190- | 80- 70- [ 60- | 50-| 40C 30-1 20- '
, 99 189 79169 59| 49 39 | 29
requency 1 2 (12 ]11131] 25 0] 8-
(3) [Turn over]
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" 'b)  What is cbrrelation? Explain positive, negative
and zero correlation with example. Write the -
importance of correlation. 2+6+2
TRST=51E o700 R @RI 2 BT, ARADF @R
"I IRITE 6 o Swrzaeriz ! ) TR -
WFQ (NI o '

- ¢) Compute the correlation from the following"
data (Using Product moment method): ‘

- [=fIRe data (s correlation fef 37 (Product
moment-43 ) 3 -
X151 18]22f17]|19|20]| 16| 14] 17] 22
Y [ 41| 40] 42150 [45] 38| 46 | 41 40| 39
d) - Compute the correlation from the following
data as stated by Spearman:
!' Al 60]62|45( 60| 70| 85| 72| 70| 90{ 80
B[ 40[ 48] 55[ 55| 60| 48| 48| 60 40 45
104/Edn(N) (4)

Answer any five questions:

- OPTION-B
EDU-SEC-P-1(B)
- B. Achievement Test
GROUP-A
o<

-G AT @vew TeT e ¢

a)
b)
c).

d)

g)

Write one disadvantage of achievement test.
SirmRet SrerIa @I ATl @74
Give one example of achievement test.

FMRRer SO G Srizgd we |

Write one advantage of achievement test.
sttsvifora e8P < R )

What are the types of achievement test?
Write one principle of achiévement test.
SArRRe SO @3 S @R
Mentipri one objective of achievement test.

Ao SToPR O3 By @y

.What is ‘blueprint?

s e

h)
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What do you mean by Teacher Made Test?
R fffe oSt <ee | Qe

(5) - [Turn over]

1x5=5




‘~GR}0‘U1.’sB B o B | b) Discuss different steps of achievemgrit test.
Retts | | ety SRR R et S 91
2. Answer any two questions: ° | 5x2=10 | ‘c) | _Xgiasgothiothzzager?ztl:sc h;? v:;ll?en\teg:zt
@GN 76 evw Teg wia '3 : : test. What are the uses of gchlevemen; _:zs:;
a) l)dii(;l;:(l:z the role of achlevement test in ‘ w@mw%m? VR -
ﬁwmﬁ‘ﬂ@ﬁ‘ﬁ?ﬁwaﬁw '. | Nﬁf@]@ﬁ{ gzmwlwu onvfirsww—ﬁw
~ b) State the principles of achievement test. - 9 2:1:?:?“ Jchievemnent test of 20 marks on
o wrSr Afoekt 3 ) T 'Factors of Education'.
c) Discuss the objectives of achievement test. - . fRrI AMICTR i’\’ﬁ Y T D A
Aot St Srrrol Wi ) oS age L
d) State the different levels -of questions with ‘
example _____,_—--—
GROUP-C
Rrstatat
3. Answer any two questions: | 10x2=20
-GG S e B e ¢ |
a) Prepare an achievement test of 20 marks on any
one subject.:
- AR e Bor 3 T3 P sirawffera
S e 9 | |
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